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Optimization Programming of a Single-Stage Reaction
Axial Flow Turbine for OTEC(TURBOTEC)

Haruo UEHARA, Tsutomu NAKAOKA,
Yasuyuki IKEGAMI and Seiji TAKEISHI

Optimization programming of a single-stage reaction axial flow
turbine for ocean thermal energy conversion(OTEC) are developed by using
the method of steepest descent and the method of Hook and Jeeves.
This programming is named TURBOTEC. The parameters in the objective
function consist of the number of nozzle and rotor blades, specific
speed, specific diameter, nozzle outlet angle and ratio of blade to

diameter. The calculation method of the turbine efficiency, change of
state in turbine, blade shape of the turbine, pressure loss of the
turbine, specific speed and the specific diameter are present. The

procedure a main program, and subroutine programs for these calculations
are shown.
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n+=f(Na, Do, @ o, h/D)
N.'=N.t+6,
2=t (N.", Ds, @, b/D)
Bl=(n<'-n+)/6,
Da’=Detd 2
7=t (N, Do’y @ o, /D)
B2=(n+'-n+)/8:

Na=N.-BI1#STEP1
D.=D.-B2%STEP2

2. Hookk JeevesD )\ ¥ — VR

CORBEFER, BRBORBIUNY-VBHE
FENEDDERATHS, 1l OEREHIZXY bV
DEe VHEZLTHEbDET S, BRI NSO EE
BHMIIFFEES. BhELEEDBILDIE., BEOO
AF v TORESLKEX® DOHEEEET 3. 2O
FER, BHEETERERT S,

x:=x 1 4ke ¢V 3)

BHOBRDELTR, Ax'VERLHOHEXD LR
LIt 3, BRVRITHNE., Thabb,

fO)(x ) (4)
Thhid, TOREZTTONT,
x I+ iy )

£ 5, BRPETHDITHIE, BROFAEHECT
%,

Xi=x (P -ke D (8)
RWOHBZHRVELT, bLEEEIRHTH NI,

X =y (N
LT, 25 Tlhtnild,

g CHEI Loy (D (8)

ET5, AN AZLBBRRLELELERBHI

BRbd, "y —UBRRBRERBUIADITHEINE S

DERDDILENOLBES,
BRBUXRITHELE, Tabb,

Fr )< (x49) (9
DHFF .

x(l):=X(nfl)+(x(n+t>_x(0)) (10)
NORY—-UBBETOL. HLLESE,

x(O):=x(n+1) (11)

KE<. dL, £BRMIFBREN TR TH,
Lrdb,

X (12 g (0 (12)
THn,
XD =g @ (13)

LLT, BRBBHERVET.

LaL, RUDPBRE Zh Tkt hid, RUDD &

STHLEHOY A VBB BEEINDZLITkEH

5, TOHEKE., AT v TORXSKERMANT B,
k:=k/10 (14)

BOBELE., KEHLPLHRDEBIDNEL 2o

REBUEET S,
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1F&2:
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C 31 e sk 3k sk 3 ok ok sk Sk 3 5K s e 3k 3 Sl ok Sk 3le 3l 38 Sl 3k 3k 3 o1 Sk 36 3 33 386 3l 3 i SR 3¢ 3 35 38 3¢ 3 35 sk e ok e 39 sk 8 3k S R S 3 3k KK O ok R R R SRR SRR 3R
C ¥ Optimization Programming of a Single—-Stage £S5
C % Reaction Axial Flow Turbine for OTEC(TURBOTEC) *
C £ %
C 3 Method of Hook & Jeeves &
C % PRAMETER ZN,ZR £
C e £
C sk Method of steepest descent *
C *® PARAMETER NS.DS.HBYD,ALPHA2 #*
c *® *®
o4 s4¢ 24 38 3e 3¢ 3 3¢ 34 ke 3¢ o 3 s8¢ 3R 3 5 ok 5k 38 336 o e 356 Sk S 346 34 Sk 386 38k 388 346 ¢ 356 Sl 3 38 3l e 23 3 ol ol 3 3k Sk 3 336 Sl 36 356 38 3 3K 3¢ 3k 38 24 e K R SR SR RO R
C
COMMON IPOWER,T2,PS1.PS2,PS3,H1,H2,H3,Vv1,Vv2,Vv3,81G.S2,83,
1X1.X2,.X3,ANIUS1,ANIUS2,ANIUS3,RPM,GFMASS,REACT.REDS3.DP,EETATT,
2D1,D2,D3,BH1,BH2,BH3,ALPHA1l ,BETA2,BETA3,ALPHAS,BETAS,
3WAXILN,WAXILE,CAMBEN,CAMBER, CHORDN, CHORD ,DBETAC,PITCHN,PITCHR,
4C1,C2,C3,CM2,CM3,CU2,CU3,W2,W3,WU2,WU3,UP,TLOSPN,TLOSPR,
5TLOSEN, TLOSER, TLOSCL ,DHN,DHR,HDLOS,DHEX ,DHSUM.HAD,IT,.J.K.L,
6M,NT, IJK, IOPT,COUNT, 11 ,PAI.POWER,DHWET,UP2,JLD,
7CHDLOS,CBETA2,CC3.CD2,CREACT,.CEETA,RH2,RH3,Q3.,11.,12
REAL NS
DIMENSION X(2.,4) ,E(2,2) ,XX(2,1)
OPEN(6,FILE="'CON: ")
OPEN(5,FILE="PRN: ")
OPEN(4,FILE="D:TURBOD1.DAT" .STATUS="NEW' ,ACCESS='SEQUENTIAL",
1FORM='FORMATTED ")
OPEN(3,FILE="D:TURBODZ2.DAT' ,STATUS="NEW' ,ACCESS="SEQUENTIAL",
1FORM='FORMATTED ")
FLUID=22.0
TIN=22.2
TOUT=12.7
POWER=5000.0
C sk sk sk sk ok 3k 3K 3 3 3 S ST ik 3 3 st 3K 3 sk sk sl sk sk sk ok sk sk 3k 2R Sl Sk Sk 312 31 3k s1e 346 8 3K K 3 ik 3k 3 3k 3k i ofe s ok Sl i Sk 30 3R Sk e 3k 3k ol s sk sl sk Rk R R
C % Method of Hook & Jeeves *
C * #
C % POWER=5000,25000.10000 *
C ************************************************?k*******************
C
5 N=2
JLD=0
X(1.1>=15.0
X(2,1>=183.0
E(1,1)>=1.0
E(1,2)=0.0
E(2,1>=0.0
E(2,2>=1.0
X(1,2)=X((1,1)
X(2,2)=X((2,1)
SK=1.0
DELTA=1.0
I=1
100 XX(1,1)=X(1,I+1)+SK*xE(1,1I)
XX(2,1)=X(2,I+]1)+SK%xE(2,1)
ZN=XX(1,1)
ZR=XX(2.1)
C
CALL POWELL(FLUID,TIN,TOUT,ZN,ZR.NS,DS.HBYD,ALPHA2,EETA.HJ)
EETA1=EETA
C
ZN=X(1,1I+1)
ZR=X(2,1+1)
C
CALL POWELL(FLUID,TIN,TOUT,ZN,ZR,NS,DS,HBYD,ALPHA2,EETA,HJ)
EETAZ2=EETA
C
IF (EETA1.GT.EETA2) THEN
KCL,I+2)=XX(1,1)
X(2,1+2)=XX(2,1)
GO TO 260
END IF
200 XX(1,1)=X(1,I+1)-SK*xE(1,1)
XX(2,1)=X(2,1+1)~-SK%xE(2,1)
ZN=XX(1,1)
ZR=XX(2,1)
Cc
CALL POWELL(FLUID,TIN,TOUT.ZN,ZR,.NS.DS,.HBYD,ALPHA2 EETA.HJ)"
EETA1=EETA
C

IF (EETA1.GT.EETA2) THEN
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E
250 X
‘ X
260 I

END IF
ZN=X(1,N+2)
ZR=X(2,N+2)

CALL POWELL(FLUID.TIN,TOUT,ZN,ZR.NS,DS,HBYD,ALPHA2 ,EETA ,HJ
EETA3=EETA

ZN=X (1, 1)

ZR=X (2, 1)

CALL POWELL(FLUID,TIN,TOUT,ZN,ZR,NS,DS ,HBYD,ALPHA2 ,EETA ,HJ)

IF EETA3.GT.EETA) THEN

L2 =X (1, N+2) +(X (1, ,N+2)-X
X(2,N+2)+(X(2,N+2)~X

XC(1,N+2)

X(2,N+2)

(1,1))
2) 2,13
n
| 9]

LI

1
2
1,
2
1

[aRa R

(
¢
¢
4
(
o]

TO 100
END IF
500 IF (X(1,2).EQ.X(1,1>) THEN
IHANTL1=
ELSE
IHANT1=0
END IF
IF (X(2,2) .EQ.X(2,1>) THEN
IHANT2=1
ELSE
IHANT2=0
END IF
ITHANT=IHANT1%IHANT2
IF (IHANT.NE.1)> THEN
X(1,2)y=X1,1)>
X(2,2)y=X(2, 1
I=1
GO TO 100
END IF
ZN=X (1,1
ZR=X(2,1
HJ=1

)
)

CALL POWELL(FLUID,TIN,TOUT,ZN,ZR,NS,DS,HBYD,ALPHA2,EETA.HJ)

CALL SI(PS1,PS2,PS3,H1,H2,H3,81G,S52,S3,DHN,DHR,HDLOS,DHEX,

1 DHWET,DHSUM, HAD)
c .

700 IF(FLUID.EQ.22.) WRITE(5,1001)> IPOWER.TIN.,TOUT
IF(FLUID.EQ.3.) WRITE(5,1002) IPOWER,TIN,TOUT
IF(FLUID.EQ.502.) WRITE(5,1018) IPOWER,TIN,TOUT
WRITE(5,1003) TIN,T2,TOUT.PS1,PS2,PS3,H1,H2,H3,V1,V2,V3,S1G,S52,53
WRITE(5,1004) X1,X2,X3,ANIUS1,ANJUS2,ANIUS3
WRITE(5,1005) NS,DS,RPM,GFMASS,REACT,.RED3.DP,EETATT,EETA .HBYD
WRITE(5,1006> D1,D2,D3,BH1,BH2,BH3
WRITE(5,1007) ZN,ZR,ALPHA1,BETA2,ALPHA2,BETA3,ALPHAS,BETAS,

1PITCHN,PITCHR,WAXILN,WAXILE,CAMBEN,CAMBER .CHORDN, CHORD ,DBETAC
WRITE(5,1008) C1,C2,C3,C1,CM2,CM3
WRITE(5,1009) CU2,CU3,W2,W3,WU2,WU3,UP2,UP

WRITE(S,IOIO) TLOSPN,TLOSPR,TLOSEN,TLOSER,TLOSCL
WRITE(5,1011) DHN,DHR,HDLOS,DHEX.DHWET

WRITE(5,1012) DHSUM,HAD

WRITE(S.IOIS) IT,.J,K.L.,M,NT,IJK,IOPT,II

WRITE(5,1014) HDLOS,CHDLOS,BETA2,CBETA2.C1,CM3,C3,CC3,D2,CD2,
1REACT,CREACT ,.EETA,CEETA,. RHZ RH3, QS ’
WRITE(S 1015) 11, 12

WRITE(5,10186) :

‘WRITE(3.1017) EETATT, IPOWER ,DHSUM,DHN,DHR ,HDLOS,DHEX,DHWET, HAD,
1IGFMASS ,RPM,ZN,ZR,.NS,DS,HBYD,ALPHA2.,D1.D2,.D3,BH1,BH2,BH3,
2PITCHN,WAXILN,CAMBEN, CHORDN,ALPHA1l ,ALPHA2,ALPHAS,
3PITCHR,WAXILE,CAMBER,CHORD ,BETA2,BETA3,BETAS

1000 FORMAT(F8.4)

1001 FORMAT(1H ,//,18X,'OPTIMAL TURBINE DESIGN-FOR"’ . I
10TEC POWER PLANT’,/, 22X 24HWORKING FLUID-R22- T
24HL° C] ,1X,5HTOUT=, F5. IX 4HI[°Cl.,//.
345X ,30HSTATION1 STATIONZ STATION3)

1002 FORMAT(1H ,//,18X,26HOPTIMAL TURBINE DESIGN FOR, 14, 'MEGAWATTS

4, "MEGAWATTS
IN=,F5.1,1X,
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10TEC POWER PLANT',/,22X,24HWORKING FLUID-NH3~- TIN=,F5.1,1X,,
24HC°C1 ,1X,5HTOUT=,F5.1,1X,4H[°C1,//,
345X ,30HSTATION1 STATION2 STATION3) .
1018 FORMAT(1H ,//.,18X,'OPTIMAL TURBINE DESIGN-FOR',14, MEGAWATTS
. 10TEC POWER PLANT',/,22X,25HWORKING FLUID-R502- TIN=,F5.1,1X,
24HL°C1,1X,85HTOUT=,F5.1,1X,4H[°C1,//,

345X ,30HSTATION1 STATION2 STATION3)
1003 FORMAT(IH ,14X,26HTEMPERATURE e Cil ,3(3X,F8.3),/,
11i5X,26HSTATIC PRESSURE [MPal ,3(3X,F8.3),/,
215X ,26HSTATIC ENTHALPY [kd/kgl ,3(3X,F8.3)./,
315X .26HSPECIFIC VOLUME [m3/g1 ,3(3X,F8.3),/
415X, 26HENTROPY [kJ/kg-+-K1l,3(3X,F8.3))
1004 FORMAT(1H ,14X,26HQUALITY [ .3(3X,F8.3)./.

115X ,26HKINETIC VISCOSITYImZ/s] ,2X,8¢1X,E10.3) .,/
1005 FORMAT(1IH ,19X,30HSPECIFIC SPEED I[r.p.m,m/s3.ml ,2X,F10.3,/,

120X, 30HSPECIFIC DIAMETER Im.m3/s.ml ,2X.,F10.3,/,
220X, 30HROTATIONAL SPEED fr.p.ml ,2X,F10.3./,
320X, 30HMASS FLOW RATE [kg/si L2X,F10.3./.,
420X, 30HREACTION L-1 .2X,F10.3./,
520X, 30HMACHIN RE. NUMBER -1 .4X,E10.3./,
620X, 30HMEAN SQUARE DIAMETER [m21 L2X.,F10.3.,/,
720X ,30HTO-TO-TO, EFFICIENCY [ ,2X,F10.3.,/,
820X ,30HTO-TO-ST EFFICIENCY [-1 ,2X,F10.3,/,
920X, 3CHBLADE H TO DIA. RATIO [-1 ,2X,F10.3./
1006 FORMAT(1H ,14X,22HGEOMETRY SPECIFICATION,/,35X," STATOR INLET

1° LOTOR INLET ROTOR EXIT',/.
220X, 16HDIAMETER Efml ,3(F8.3,5X) ./,
320X, 16HBLADE HEIGHT ([ml,3(F8.3,5X).//,
415X, 11HBLADE SHAPE, 23X ,8HSTATOR, 7%, BHROTOR)
1007 FORMAT(1H ,19X,16HNUMBER OF BLADES,7X,2(4X.F8.3)./.

120X ,23HINLET ANGLE [degl .2(4X,F8.3) ./,
220X, 23HOUTLET ANGLE [degl ,2(4X ,F8.3) ./,
320X,23HSTAGGER ANGLE [degl,2(4X ,F8.3) ./,
420X, 23HBLADE PITCH [ml ,2(4X,F8.3) ./,
520X, 23HAXIAL WIDTH Lml ,2(4X ,F8.3),/,
620X, 23HCAMBER LINE LENGTHIm1l ,2(4X,F8.3),/.,
720X, 23HCHORD LENGTH [ml . ,2(4X,F8.3) ./,
820X, 23HUNDER TURNING [degl ,8X,1H~,7X,F8.3,/)

1008 FORMAT(1H ,14X,32HVELOCITY AT MEAN SQUARE DIAMETER./.47X.
18HSTATION1, 3X,8HSTATION2,3X,8HSTATION3.,/,

220X, 23HABSOLUTE [m/s3,3(3X,F8.3),/.
320X, 23HAXIAL COMP. Im/s1,3(3X.F8&.3))

1009 FORMAT(1H ,18X,23HTANGENTIAL COMP. Im/sl ., 11X,2(3X,F8.3)./.
120X, 23HRELATIVE Imn/sd »,11X,2(3X,F8.3) ./,
220X, 23HTANGENTIAL COMP. [m/s] ,11X,2(3X,F8.3) .,/
320X, 23HPERIPHERAL [m/s},11X,2(3X,F8.3)./

1010 FORMAT(1H ,14X,17HLOSSES IN TURBINE, 24X ,68HSTATOR, 6X, 5HROTOR, /,
118X,33H1 PROFILE LOSS COEFFICIENT (-1 ,2F12.6,/,
218X ,33H2 ENDWALL LOSS COEFFICIENT (-1 .2F12.6,/,
318X,33H3 TIP CLEARANCE LOSS COEF. [-1 ,7X,1H-,4X,F12.6Y

1011 FORMAT (1HO,19X,32HGEOMETRY LOSS [kJ/kgl ,F11.6,F12.6,/,
120X,32HDISK FRICTIONLOSS [kJ/kgl . F11.6,/,.
220X ,32HEXIT KINETIC ENERGY LOSS [kJ/kgl,F11.6,/,
320X, 32HWET LOSS [kJ/kgl ,F11.6,/)

1012 FORMAT(1H ,19X,32HSUMMATION OF LOSSES [IKJ/kgl , 11X ,F12.6,/,
i120X,32HISENTROPIC HEAD [kJ/kgl ,11X,F12.6)

1013 FORMAT(1H ,80X,5HDLOS=,13,7H BETA2=,13,4H C3=,13,4H C1=,13,/,
181X,6HREACT=,13,8H EETA=,13,7H BETA3=,13,6H I10PT=,13,4H 11=,14)
1014 FORMAT(1H ,5X,7H HDLOS=,F10.7,7HCHDLOS=,F10.7,7H BETA2=,F10.5,

1 7HCBETA2=,F10.5,7H C1=,F10.5,7H CM3=,F10.5,/,5X,
2 TH C3=,F10.5,7H cC3=,F10.5,7H D2=,F10. 5.

3 7H CD2=,F10.5,7H REACT=,F10.5, 7THCREACT=,F10. ./,SX.
4 7H EETA=,F10.7.7H CEETA=,F10.7,7H RH2=,F10.5,

5 TH RH3=.F10.5.7H Q3=.F10.5)

1015 FORMAT(1H ,5X,° COUNTER(1)"*,17,8X, COUNTER(2)",1I7)

1016 FORMAT(IHI) . ’

1017 FORMAT(1H ,F10.4,1X,14,/,7(F10.6,1X)./,F10.4,1X,F10.4,/,
16(F10.4,1X) /. 6(F10 4,1X) ,/,7(F10.4,1X) ,/,7C(F10.4,1X))

IF(POWER.EQ.25000.) GO TO 1300
POWER=POWER+5000.
GO TO 5

C
‘1300 CLOSE (6)

CLOSE (8)

CLOSE (4)

CLOSE (3)

STOP

END
C***********************************************************************
Cx Method of steepest descent
C***********************************************************************
C
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SUBROUTINE POWELL(FLUID,TIN,TOUT.FZN,FZR,NS,DS,HBYD,ALPHA2,EETA,
1 HJ)>

COMMON IPOWER.T2.PS1,PS2,PS3,H1,H2,H3,V1,V2,V3,51G,S52, S3.
1X1.X2,X3, ANIUSl ANIUSZ ANIUS3 RPM GFMASS REACT REDS bP. EETATT
2D1,D2,D3,BH1, BHZ BH3,ALPHA1, BETAZ BETAS3, ALPHAS BETAS
3WAXILN WAXILE CAMBEN, CAMBER, CHORDN, CHORD DBETAC PITCHN PITCHR
4Cl1,Cc2, C3 CM2,CM3,CU2.CU3,wW2,W3,WU2,WU3,UP, TLOSPN TLOSPR
STLOSEN TLOSER TLOSCL DHN, DHR HDLOS, DHEX DHSUM HAD.,I,J,K.L . M.N,
61JK, IOPT COUNT I1,PAT, POWER DHWET uprP2,JLD,
7CHDLOS ,CBETAZ2, CCS,CDZ.CREACT.CEETA.RHZ.RH3.QS.11,}2

DIMENSION CZN(100) ,CZR(100) ,CCEETA(100) ,CCNS(100) .CCDS(100) ,
ICCHBYD(100) ,CCAL2(100)
REAL NS
INTEGER DOUNT
*************************************************************
ES Assume of NS , DS , h/D . a2 *
T3 S e e s s s S s s 3 5 3 3K I 3 3 3k s sl sk sk sie sie s e 3 3 ik 23 2 sk 2ie sk sl a3¢ 3 38 38 356 32 38 3¢ Sl 1€ 30¢ 3¢ 34 3k 3¢ 2 oK 3¢ ke ke sk e sl sk sk

NS=50.0
DS=2.0
HBYD=0.20
ALPHA2=186
BETA2=30.0
BETA3=10.0
ALPHA1=80.0
C1=20.0
C3=20.0
HDLOS=0.0
DHWET=0.0
DHEX=0.0
REACT=0.5
REETA=0
RNS=0
RDS=0
RHD=0
RA2=0
IF (HJ.EQ.1) THEN
DOUNT=0.0

HJ=0
GO TO 60
END IF
DO 50 I=1,DOUNT

IF ((CZNC(I) .EQ.FZN) .AND. (CZR(I) .EQ.FZR)>) THEN
EETA=CCEETA (1) '
NS=CCNS (1)
DS=CCDS (1)
HBYD=CCHBYD (1)
ALPHA2=CCAL2(I)
GO TO 600 :
END IF
50 CONTINUE
60 DOUNT=DOUNT+1
NN=400
CNS=NS
CDS=DS
CHD=HBYD
CA2=ALPHA2
CNS1=0.1
CDS1=4.0E-04
CHD1=1.2E-05
CA21=0.04
100 DO 500 II=1,NN
*************************************************************
% Fix Data : ZN,ZR *
*************************************************************

ZN=FZN

ZR=FZR
*************************************************************
* X-Initial *
*************************************************************

NS=CNS

DsS=CDs

HBYD=CHD

ALPHA2=CA2 :
34 3 336 396 396 3 3 b ke e e she el she sk sk 30 3k 3 Sk S e e 38 3 8k 8¢ 20 3k e s 2k e 3k ik s s 3 S 3k 30k Sk 34 3 86 346 35 3 ok 386 46 ok ok sde sk ke e ke sk ok
* X*=X+DELTAX : *
e 33 336 3 e 3k 3 e 3l 3k e s 2ok sk s 3 34 2 30 36 386 3l 36 s Sk ok 36 Sk ke 3k 34 3k 3 3 3k 33k 33 35 a6 3k sk 386 386 e s Sl 3 3 o 3 Sk SR SR ik ke sk

CNS=NS+0.01
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CDS=DS+0.001
CHD=HBYD+0.0001
CA2=ALPHA2+0.01

CALL EETAT(FLUID,TIN,TOUT,NS,DS,ZN,ZR,HBYD,LALPHAZ2,

1 EETA,JETA)
332 2 35 2l 2ie ol 2k 36 30 3¢ 3R 5% 200 3ie 3¢ 35 336 3k 3l 32 26 3iR 2k 2 olk i 218 2 30 30 3k 55 36 3l 2k 32 3k 38 348 250 3¢ 3k 3¢ 3 36 3¢ Ble S Sl sl Sl Sl M R R M SR A B K
£ Specific speed NS bl
42 2 2 36 3¢ 5i4 M 36 3¢ 26 53¢ 3¢ 350 3¢ S 22 3¢ 24 Sl Sl M8 3K S8 M. 30K 2 Bl 3k ol 3¢ ik ol ade dle Sl e e g s i s sle s de sl s sk sl sie sl s Sle MO S sle e e e Sk e ok

300 CALL EETAT(FLUID,TIN,TOUT,CNS,DS,ZN,ZR,HBYD,ALPHAZ ,DEETA, JETA)

Bl1=(DEETA~-EETA) /0.0001
TNS=ABS (B1%CNS1)
IF (TNS.GT.0.5) THEN
B1=(DEETA-EETA)>/70.010
END IF
CNS=NS+B1%CNS'1
4 3 38 3 3 25 2 e S 3§ i 2 e s e sje s o sl sk e 2 s ke o e sfe sk e sl sk aie Sk sk e e sl i e R SR sk s s s e sk e sl sk e sk e sk sk e e sk R sk
b3 Specific diameter DS %k
i 3¢ 348 S 38 3 3¢ 3 3 3 2 3 3k sl 2 346 348 3§ 2 3 2k 342 35 ik s e 38 3k ke ik s sk ik e sl sk sk sde sl e sl sk sk sk sl sk sk s sl sl sl sk sl sl e sk sl sk s sl sk

CALL EETAT(FLUID.TIN,TOUT,NS,CDS,ZN,ZR,HBYD,ALPHAZ,DEETA, JETA)
B2=(DEETA-EETA) /0.00001
TDS=ABS (B2%CDS1)
IF (TDS.GT.0.1) THEN
B2=(DEETA-EETA) /0.100
END IF
CDS=DS+B2%CDS1
3% 3 3¢ 3 i< 382 3 3 ok 3 3 3% 3k 3k ik 3k ok sk i 36 ok Sl 30 33k 35 ok 3 3 ok 3 s 280 34k i S sk s 32 290 2l ok 3k ofe sl M iR iR SRR i S S SR e S R M SRR R K
#* Ratio of h/D HBYD _ *
*************************************************************

335 CALL EETAT(FLUID,TIN,TOUT,.NS,DS,ZN,ZR.CHD,ALPHAZ2,DEETA, JETA)

B5=(DEETA-EETA) /0.000001
THD=ABS (B5%CHD1)
IF (THD.GT.0.03) THEN
B5=(DEETA-EETA)> /0.100
END IF
CHD=HBYD+B5:%CHD1
S o 3 sk ofe sl sl e SR SR SR Sk e e e sfe e sl sl sl sl e sie s e sl s Sl e e sl sie s s sl s Sie s e e sl sl e sle e la sl e sl sl e e s e s sl sl R sl ke sk
% Nozzle outlet angle ALPHAZ2 *
S 25 e 3 34 e S 3 e v Sk 3K ke s 3 3 3% i i ik sie e Sl sl 2 ik e sk s s i e ok sl sik sl e s ik i 35 e 2 SR i N e sl i sl e SR sl sl sk sk SRk sk R R 3Kk

CALL EETAT(FLUID,TIN,TOUT,NS,DS,ZN,ZR,HBYD,.CA2,DEETA, JETA)
B6=(DEETA-EETA) /0.0001
CA2=ALPHAZ2+B6%CA21

350 IF (CHD.GT.0.3) THEN

CHD=0.3
END IF
IF (CA2.LE.15.0) THEN
CA2=15.0
END IF
QEETA=EETA
IF((QEETA.GT.REETA) .AND. (I1.GT.100)) THEN
REETA=QEETA
RNS=NS
RDS=DS
RPHN=PITCHN
RPHR=PITCHR
RHD=HBYD
RA2=ALPHAZ2
RII=I1
END IF
12=12+1

WRITE(6,%) *2:COUNTER’,I12

403 WRITE(6,411) NS,DS,ZN,ZR,.HBYD,ALPHA2 ,PITCHN,PITCHR.,EETA
411 FORMAT(1H ,4X,3HNS=,F8.3,4X,3HDS=,F8.4,4X,3HZN=,F8.4.4X,3HZR=,

1F8.4,4X,5HHBYD=,F8.4,8X, THALPHA2=,F8.4,4X, 7HPITCHN- F8.5,
24X, 7HPITCHR=,F8.5,4X,5HEETA=,F8.5,/)

500 CONTINUE

*************************************************************
* Optimum Data Change
*********************************‘****************************

IF (JETA.EQ.1)> THEN
REETA=0.0

END IF

EETA=REETA

NS=RNS

DS=RDS

HBYD=RHD

ALPHAZ2=RA2
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I1T=RII

C 346 342386 34 33 34 3k 3l e 240 3¢ v 3 s 24 o 28 356 380 3 386 3 3R 308 358 94 340 3k ol 3he 386 38 3 30 358 3 35 23k ol 3¢ 336 366 3i 356 306 36 346 392 236 3% 34 3¢ 3K 3 506 34 38k 38 3¢ e K 3¢ e ke e S ok oK
C £ Optimization of turbine for OTEC *
C 346 34 S 3¢ 2k 2k e 2 sl 3k s sk o4 e sk e e 33 3k 34 36 e 3¢ Sl 3je K vl 2k s 2% e 34 3 24 306 30 3% 24 3 23k ke 316 38 34 3¢ 3k 3¢ 3k 336 3¢ ol sk 3 e 3k 3 KN S 3K S K el S sk ok K
C
CZN (DOUNT) =FZN
CZR (DOUNT) =FZR
CCEETA (DOUNT) =EETA
CCNS (DOUNT) =NS
CCDS (DOUNT) =DS
CCHBYD (DOUNT) =HBYD
CCALZ2(DOUNT)> =ALPHAZ2
600 WRITE(6.,%) TIN,TOUT,EETA
605 RETURN
END
C 3t 3t 3923 e 34 3 346 306 38 3% 3 S e 303 3k e sk 340 3§ sk 3k ok s 3k 3 390 3 386 8 36 356 550 53 330 58 390 3 3 23k 330 3 3 e ik 34 33 3B Sk 336 348 38 386 38 3¢ 3 38 3¢ e s s 33 ik e sk s ik sk
Cax Turbine efficiency =

C st 3t ke 3 sbe s 46 3 ke s e o 3 s 3 340 e e ik 3860 Sk 356 3 Sk 336 3k 28 3 sk 3 sk 2k 2 3 sk 380 56 3 396 36 s ke 38 386 30 308 38 30 3 30 338 S8 38 380 S 96 38 380 306 S 0 S K K SRS K
C
SUBROUTINE EETAT(FLUID,TIN,TOUT,.NS,DS,FZN,FZR,HBYD,ALPHA2 ,EETA,

1 JETA)
C
COMMON IPOWER,T2.PS1,PS2,PS3,H1,H2,H3,V1,V2,V3,81G,S2,S83,
1X1,X2,X3,ANIUS1,ANIUS2,ANIUS3,RPM,GFMASS,REACT,RED3,DP,EETATT,
2D1,D2,D3,BH1,BH2,.BH3,ALPHA1,BETA2,BETA3,ALPHAS,.BETAS.
BWAXILN,WAXILE,CAMBEN, CAMBER,CHORDN, CHORD ,DBETAC,PITCHN,PITCHR.
4C1,C2,C3.CM2,.CM3,CU2,CU3,W2,W3,WU2,WU3,UP, TLOSPN, TLOSPR,
STLOSEN, TLOSER,TLOSCL ,DHN,DHR,HDLOS,DHEXP,DHSUM ,HAD,I1.J,K.L.M.N,
861 JK.LD,COUNT,I!,PAI ,POWER,.DHWET,UP2, JLD,
7CHDLOS,CBETA2,CC3,CD2,.CREACT,CEETA,.RH2,RH3,Q3,11,12
REAL NS
INTEGER COUNT
1i=11+1
ZN=FZN
ZR=FZR
JETA=0
COUNT=0
PAI=3.1416
RADIAN=PAI/180.
DEGREE=180./PA1l
A=1./426.80
G=9.80665
SBYH=0.02
SBYD=0.02
EETA=0.85
IPOWER=IFIX(POWER/1000.)
[
CALL STATES(TIN,PS1,V1L,V1G,H1L,H1G.S1L,S1G,ANIUS1,FLUID)
Vi=V1iG
H1=H1G
X1=1.0
c .
CALL STATES(TOUT,PS3,V3L.V3G.H3L,H3G,S3L,S3G,ANIUS3,FLUID)
C 353k 5 2 2l 38 2 38 24 2l ik 3 e 38 3k e sl vl sl o ol e sk she o 3l o s oo sk ol e ol oo ol s e 58 sl oe 38¢ 30 o ok 39 sl she se e oo i sle e R sl e s e sl dle 2k
C ES Theoretical adiabatic heat drop HAD ®
C 383 342 3 3 20 34 o 340 34 38 34 9k 398 2k e 39 Sl o >l ol e sk 3l ade 3k o sk s 38 e 206 34 e 34 508 236 35 336 25¢ 33 29 e 35 34 300 30 34k S0 53¢ 38 33< 3K 38 ol Ak SR RS N B
C
H3IS=(H3G-H3L)* (S1G~S3L) /(S3G~-S3L)+H3L
5 IDCL=0
6 I1JK=0
7 N=O
8 M=0
9 L=0
10 K=0
11 J=0
12 1=0 .
15 HAD=H1+A%C1%%2/(2.0%G) ~H3IS
C S 5% 3¢ 31 316 546 5 24 2l Bl 34 3% 39 3 34 2de sl oie 8 35 ok ok 3 3 sk 2l 588 34 546 8 Bk 35 34 35 3¢ 536 D 3¢ 256 i e S 3¢ 3¢ 3 3 3 i 5 356 3¢ 34 31 o8¢ 3¢ e e e e Kk
C W Mass flow rate GFMASS *
-C %40 3 9k 3¢ 3 3 340 3 o 26 246 36 3 3R 38k 30 34 Sk e 3 e 33 2% 8 33 35 54 2l 5K 38 330 348 3K 298 298 0% 348 ok 346 3¢ 31 33 3¢ 31 35 33 308 8 3¢ 3K 3K 34 18 e KSR WK
C
: GF=POWER*%860 ./ (EETA=x0.98%HAD)
GFMASS=GF/3600.
C e 2k sl o e sl S 24 3 3 SR 31 390 5 Sk 2l pie e 2 2 o 33 2k s sk 2l 530 2 i 246 240 348 348 286 206 3¢ 38 356 3¢ 3% 3% 35233 3¢ 34 386 30 e 24 3¢ 30 e Me MK KR MK MK
C ® Enthalpy (station 3) H3 &
C sk 3k e 3 46 2 2 S 3 3k 386 3033 3¢ e sfe 33 35k e o4 ok 3 336 o S Sl S sl s sk 3k 3G 340 300 342 340 06 2% 34 390 25¢ 308 3¢ 530 30 33 34 3K 3o 3¢ 3¢ 308 3¢ S M KR e S sk sk
C

20 H3=H1-EETAxHAD-HDLOS+A*% (Cl#%2~C3%%2) /(2.%G) ~-DHWET-DHEX
X3=(H3~-H3L) /(H3G-H3L)
V3=(V3G~-V3L)* (H3-H3L) / (H3G~H3L) +V3L
ROW3=1.0/V3
53=(S3G~-S3L)* (H3-H3L) 7/ (H3G-H3L) +S3L
Q3=GF*V3/3600.
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i 346 3% i ok 5% 55 345 3 38 586 34 3% 3% S8 54 3¢ 350 3 5k 0k sie 54 3 3 2 ke ol e 34 2 3 2k 35 340 5% 26 380 8 3 o e ke 3¢ ok o o ok S e e ol ok e s sl sl sl sl sk

* Rotational speed RPM sk
256 24 358 34 3¢ 350 3¢ Dk 3¢ 3 3R 3¢ 3R 3¢ e 2 e 3¢ 2 200 2l 2 34 3 3 33 sk sl se sl 36 vfke e sk 3de S sl 3¢ 3 e v sle e e oo sk s o sk s sfe e sl sl sl sk sl s e iR oKk

25 RPM=NS%(HAD/A)#*¥%0.75/SQRT (Q3)

D3=DS*SQRT(Q3) / (HAD/A) ®x0.25
IF (JLD.EQ.O0) THEN
D2=D3%0.95

END IF

LD=0
5 34 2 34k 3k 3k 3¢ 3l 3 2l i ik 3ig vl vie e e 3e ol 336 2 35 2 ik 23k 23 25 31 3k e e 2ie e e o 2k 2k 3 sl 2 ofe 2 oie dfe she i e e dle e st sk e i e e il sl 3R
£ Annular area (station 3) A3 sie

35 342 3% 3 2% 36 3 e 3 33 34 e 34 2je 23 3 e 2k 24 2% 3de 3 332 e sl sl 3 e vl 28 3l e sk ok 2 e xe 23 sl e i e e sie e e s e e i sl s e e e sl MR e SR R 3R

30 A3=PAIxD3%%x2%HBYD%(1.0~-HBYD)

CM3=Q3/A3 )
5 3¢ 250 30 3 3k 3 3k 20 3 250 K R $K 3ie Sk Dl nie 3 3K 342 34 21k 56 2 2k 36 34 28 3 Sk e 38 3% 3 30 30 340 3K 3 S SR 3K Sk i Sk SR i e sk e e e sl i R SR SR R 3Kk
% Energy Eq : disk pitch DP,.peripheral velocity up &
0 35 356 ¢ 346 31K 3% 308 3 338 24 3% I 3¢ 248 Sk 26 34K SR 38 3 30 3 36 2 3 1K S 33 31 336 3 e Sie SR 3 Sl S Sl 3k S 3 3 24 5 i e 5e Sl Mk e sl e e s N SR SR Bk K

DP=D3%SQRT(1.0-2.0%HBYD%(1.0-HBYD))>

UP=PAI%DP%RPM/60.
36 350 356 24 4 25 236 356 280 3 23 S 53 20 219 35 31 35 30 3R 300 3 386 3R 30 35 3 30 348 346 Sl 399 338 346 ol 348 346 386 3K 26 36 316 380 380 5 30 3K e sl e i skl Sl sl s s s sl e SR
* Disk friction loss CHDLOS #*
32 3 i 382 sfe 3ie i 2 oie o 3 20 38 e 2 sk 2k N 3t e sie sk 2 e ik 33 S 5 e e e s i e se e sfe ofe 38e 5B 3 S sk Nl Sl e e die e e e sle e e e e e e sge e B

RED3=PAI#*D3%RPM*%D3/(60.%*ANIUS3)
RED=RED3%(1.0-2.0%HBYD)*%k2/2.0
B=SBYD%2./(1.0-2.0%xHBYD)

CDi=2.0%PAI/ (B*RED)
CD2=3.7%B%%0.1/RED%x%x0.5
CD3=0.08/(B%x(1.0/6.)*%RED*%0.25)
CD4=0.102%B%x%0.1/RED%%x0.2
CD=AMAX1(CD1,CD2,CD3,CD4)
CONS1=(1.0-2.0:xHBYD) #%5
CONS2=(UP/SQRT(1.0-2.0xHBYD*(1.0~HBYD) ) )*%x%3
CHDLOS=AxCD*D3%%2%CONS1*xCONS2/ (G*8.0xQ3)

IF(ABS(1.0-HDLOS/CHDLOS) .LT.0.0001) GO TO 100
IF(I.GT.50) GO TO 100

I=1+1

HDLOS=CHDLOS

GO TO 15
34 3 33 3¢ 34 e sl 3 25 34 e 3§ 236 e xfc e ofe 380 e oie 3R sie 30 i ok 36 35 S 3 i 2fe ik ok 280 ke e 3de 29 B o3 o SR e sk e SR s s sk sl st e sk sl R sk S e Bl SR R
#* Ratio of axial clearance & diameter (station 3) BH3 #*

346 35 34 348 36 34 348 2% 350 e 3 330 240 3l s 3l 3 a3 ok ode sk sk sl ik 3 2fe 390 34 2390 2l ol 20 39 206 39 2l 306 e i ofe e e e e sle it sk slc e sle sk sl sl sl sk sl sk Bk 2k

100 BH3=HBYD#D3

DP2=D2%SQRT(1.0-2.0%HBYD®%(1.0-HBYD))

UP2=PAI1%DP2%RPM/60.0
3 53¢ o e 3l 33 24 3¢ 2 3§ 33 2k o4 55 2 31 o3¢ ol sk i 2 sl ae 3¢ 2 v 2k 2 2k oie 3 3l 28 3d 3 e sie 2 2l e =i e s i sk S 2de 2 oo sle sie e e Sl e s Sk e sl s sl
B Calculate of configuratien of rotor & blade e
S5 340 355 34k 26 3 208 51 385 348 340 ol 53 30 34e 350 30 3% 5 M 3% 549 356 i S1e i e v 333 Se 3ie 96 MR e sl e s ol ok Nie sk e e sl sl sl s e S e e i S el e sl e e oK o

CALL BLADE(BETA2,BETA3.DP,HBYD,ZR,BH3,BETAZ,BETAS,PITCHR,CHORD,
CAMBER,TRAILE ,.WAXILE.DELTAU,I11,JETA)

1.
S=SBYH*BH3
o4 s 33 ok sde sk e ¢ ol sk e ol 38 382 340 350 30 53 3k s 3 ol 3de sd 206 3¢ ol 3l sde e e e e o sl a8 o6 ol s s sl s s s sl sl sl e sl sk sl s e i e sl sk ke sk sk 3R
ES Calculate of underturning flow angle *
she 3 ok 3 vk 3¢ she s she i sl 4 58 3 ol 3k 3k 3k 3 sk e sk s sl sl sl o 3¢ vhe e sk e sde she s sk ik sk st sl 2l sl e sde e e sk s e s e sk sk sk sl sk e sl SR 3K

CONST1=SIN(BETA3%RADIAN)

CONST2=SIN(BETAZ®RADIAN) .

DBETAC=148.0%S*PITCHR%DELTAU®CONST1%%2/ (CHORD**2:xCONST2)
93¢ 3¢ 56 38 35 316 24¢ 3¢ 340 30 3¢ 30 35k 33 30 24 346 38 38 38 3¢ 8 30k 3 30 36 38 3 3k 3 3ie 30 ol o4 e 26 3 3k 4 536 3l 3 s 3l sk s sk sl sl i sl i sl R sk s sk i R
% ) Flow outlet angle BETA3E *
36034 34 e 30 34 e 242 e 346 35 330 2¢ 36 348 2% 33 53¢ 35¢ e 3k 3k 35 34 e 34 30 39 348 2k 2% 3l e 3% sk e vl 35 vle 3 e 336 sl e e st sk ik sle e she Sl sk sk sk sk e sk e sk 3k

IF(IDCL.EQ.0) DBETAC=0.0

IF(DBETAC.GT.4.0) DBETAC=4.0

BETASE=BETA3+DBETAC
3 e 3 35 34 336 30 34 34 396 24 39 346 238 ol 33 4¢3 3% 3 3i 3 240 3 39 34 oie 38 ik ke 3k 3k 3 3 34 ol s8¢ 3k 392 30 30 2l 3¢ 20 3k 3 e s ke e s e ol sl sl sl Sl sl e ok
£ Velocity for triangle of velocities (statiom 3) %
=i o5 3¢ e 30 33 50 s sk 4 33 sie 3 34 5T Sk sk 3% sk sl s o3¢ sj e s s e sl sie 306 4 e 3l 39 sl 3 2d sl o s 3 o3 ol 3e 3 2 Ne e e e sk N e R ORIk

‘U3=up

W3=CM3/SIN(BETA3E%RADIAN)

WU3=SQRT (W3%%x2-CM3%k:k2)

Cu3=WU3-uU3

CC3=SQRT (U3#:k2+W3%x2-2 . 0xU3%xW3xCOS (BETAIEXRADIAN)) )
352 33 306 53¢ 34 3¢ 398 3¢ 246 3¢ 346 34 308 346 3¢ 34k 346 306 3¢ 9l 346 4 396 e 34s 3¢ 34 34 3 a4 306 35 vk 3 Sl 3i¢ 2l 3¢ ¢ sie 3e 3k 38 3 3k 346 sde sk 4 3¢ s e o6 e sk e Sl e e e Sk
ES Velocity for triangle of velocities (station 2) *
sk v 5 >k 3¢ sle 3¢ 34 3¢ sk 3k s e sk 38 3¢ She 3¢ s s e 33 e e 31 sik 346 2 sl S 586 sde 346 38 39 e 38k 0k 35k 3¢ 34K 346 386 3 3l 3l 346 3 3k ok ke e ok Sk e sk e K R K




o000 0000

annon 0000

00 0000

[eXeXeXel

[eNeXeXe]

WHEREEREN S - Y OBB S0 5 3 v/ (TURBOTEC)

Uu2=UP2
CM2=1.0%CM3
C2=CM2/SIN(ALPHA2%RADIAN)
W2=SQRT(U2**2+C2**2—2.D*UZ*CZ*COS(ALPHAZ*RADIAN))
CU2=SQRT(C2#%%2~CM2%x2)
wWuz=Ccuz-~uU2
CONST3=(U2%%2+W2%%k2~-C2%%2) /(2. 0%U2%W2)
IF(CONST3)>101,102,103
101 BCONST=SQRT (1.0-CONST3%%2) / (CONST3)
CBETA2=DEGREE*ATAN (BCONST) +180.0
GO TO 106
102 CBETAZ2=890.
GO TO 108 .
103 CCONST=SQRT(1.0-CONST3%%2) /(CONST3)
CBETA2=DEGREE®ATAN (CCONST)
106 IF(ABS(1.0~BETA2/CBETA2).LT.0.0001) GO TO 110
IF(J.GT.50) GO TO 110
J=J+1
BETA2=CBETA2
GO TO 100
110 IF(ABS(1.0~C1/CM3).LT.0.0001) GO TO 120
IF(K.GT.30) GO TO 120 :
K=K=+1
Cil=(Cl1+CM2) /2.0
GO TO 11
120 IF(ABS(1.0-C3/CC3).LT.0.0001) GO TO 200
IF(L.GT.30) GO TO 200
L=L+1
C3=(C3+CC3)/2.0
GO TO 10
200 H2IS=H3IS+REACT%*(H1-H3IS)
*’************************************************************
¥ Calculate of nozzle ocutlet temperature T2 &
*************************************************************

CALL STATEZ(HZIS.SlG.TIN.TOUT.Tz.FLUID)
*************************************************************
ES Calculate of property (station 2) K
*************************************************************

CALL STATES(Tz.PSZ.V2L.V2G.H2L.H2G.SZL,SZG.ANIUSZ.FLUID)

H2=HI1+A® (CIl*%2-C2%%2) /(2 .0%G)

X2=(H2-H2L) /7 (H2G~-H2L)

52=(52G-S2L)y*®X2+S2L

V2=(V2G-V2L)® (H2-H2L) / (H2G-H2L) +V2L
*************************************************************
* Annular area (station 2) A2 x®
*****************#*******************************************

A2=GF%V2/(3800.0%CM2)
e 2 a4 3 2 e e 390 e 0 2 ok 2 20360 30 30 e e ke e s e 0 3339 8 S 390 3 4 3 380 3 sk 3K 3 386 e 3 32 3 3 a8 5 S 80 36 38 3¢ e S a6 3 599 48 350 30 3 3 e
& Diameter (station 2) D2 L
46 34 s a3 e 32 e 3 2 e e e o 3 3 350 e e b e 0 3 3 3 36 06 380 3 396 386 26 380 80 3 36 39 290 48 36 3 38 39 396 500 30 3 5K 380 36 398 8 3 5 58 900 S

€D2=SQRT(A2/(PAI*HBYD%(1.0-HBYD)>))

IF(ABS(1.0-D2/CD2) .LT.0.001) GO TO 240

IF(LD.GT.30> GO TO 240

LD=LD+1

JLD=1

D2=(D2+CD2)/2.0

GO TO 100
*************************************************************
% Ratio of axial clearance & diameter (station 2) BH2 B
*************************************************************

240 BH2=D2%HBYD
*************************************************************
ES Calculate of configulation of nozzle & blade b
*************************************************************

CALL BLADE(ALPHAI.ALPHAZ.DP.HBYD.ZN,BHZ.ALPHAZ.ALPHAS.PITCHN.
1 CHORDN,CAMBEN, TRALEN,WAXILN,DELTAN, O, JETA)
*************************************************************
£ Section loss & Secondary loss Coefficient of nozzle £
**'***********************************************************

CALL ALOSS (ALPHA1l ,ALPHA2,C2,BH2,ANIUS2,PITCHN,CAMBEN.CHORDN .,
TRALEN,TLOSPN,TLOSEN, 0.)
*************************************************************
% . Nozzle loss DHN £
34 3k 34 290 3% 34 3 3 34 30 3 206 35 3 3 30 336 3 ok s e sl 2 e s s sk 96 34 S s o 340 s s a3k 38 3 ke 356 3 36 396 356 35 256 35 3¢ S 35 35¢ 3¢ 38 36 38 386 302 3 e K s

17




anONn 0000 Q000 00an anon

QOO0 aanNa 0000

QOonNO a0N0 0000

annn

18

LEES - b - MR - REES

TLOSSN=TLOSEN+TLOSPN

DHN=A%TLOSSN* (C2%%2~C1l%%2) /((1.0~TLOSSN)*2.0%G)
i 23 33 3¢ 3k 34 318 346 e 34 sl 306 3¢ 35 2l 3l 54 24 34 3k ol 3 < 362 3¢ 34 34 ol e 3k 33 35 386 33 3 3k 38 356 2k 39 3t 3k 3 35 3 3 Sl e 3k B9 B ik B Sl Ak R e e SR Bk ok
b Reaction REACT &
***2’%*********************************************************

CREACT=(H2~-DHN-H31IS) /(H1-H3IS)

IF(ABS(1.0~-REACT/CREACT) .LT.0.0001) GO TO 210

IF(M.GT.50) GO TO 210

M=M+1

REACT=(REACT+CREACT)> /2.0

GO TO 200
s 3¢ 342 34 2k 332 3¢ 2k 316 35¢ ¢ 30 310 330 53 4 e 36 34 3¢ 3¢ 3¢ 348 3k 33k 33 23 3¢ 38 336 34 386 34 3k 34 ol 3¢ 336 34 23 3ik s 24 5fe ofk 8 33 34 3K S SR SRR R SRR R K
ES Annular area (station 1) Al *
S 35z S8 33 35 € 33 3 342 348 356 53¢ 35 33 518 36 34 3¢ 3¢ 3 5l 30 3K 3¢ 35 33 35 308 29 3 38 3 o8 %0 390 >k ol e 2 ol e 3 3 o e ol i s sk o R IR R RO s sk e sk ok

210 A1=A2Z2%V1/V2

*************************************************************
% Diameter (station 1) D1
*************************************************************

D1=SQRT(A1/(PAI*xHBYD*%(1.0-HBYD)))
e i 38 sie 30 3 3k 30 36 230 ¢ 54 53¢ 34 2l 5 e M 3¢ 3¢ 33 2 3k 3k s 3ie 3K 3k b 3 3 34 sk 28 33 ok sk ok sl Sl oi sl s o3¢ 6 3¢ 33 B S S SO SR A R R R R R
#* Ratio of axial clearance & diameter (station 1) BH1 &
3¢ 336 332 5% 3¢ 352 34 318 35 392 a4 3l e 2c 36 34 30 53¢ 348 38 35 3¢ 346 36 3K 346 336 3l 386 34 28 3% 3ie 3% 23e 38 ol ofe sl Sl s 2§ o e e she e e e e e sk sl sk e e sk i B R

BH1=D1%HBYD
33 35 54 3% 5k 53 332 336 33 3 s sl e e 332 e ke se e e 38 e 34 248 28 238 3% 3K 302 sl ke 3k o4 33 30k 33 28 3k R o sk 38 3 o 3 e e s sfe e s sl sl s e sk sl e sl sl ok
ES Section loss & Secondary loss Coefficient of rotor ES
34 3fe 346 3ie s 33 54 236 336 3 3 sl sie sde sl S e e e R 5 3¢ Nk e e 35 3 33 3 3 3 3de 3k sk 3l 34 30 s 3 s sl 2l ok o6 e 3 34 24 ik 3B S Sl Sk M MR R R MK

CALL ALOSS(BETA2,BETA3,W3,BH3,ANIUS3,PITCHR,CAMBER,CHORD,TRAILE,
1 TLOSPR,TLOSER,10.)

sk sie sl e 3¢ Se 3je s ol s sk 3k 3¢ 3 3K 3§ 34 s e 3k 33 33 Sl 3 i 3 33 3¢ 3 38 3k 35 sk 3k 3§ 346 s 240 3 32 330 3 34K Bl 586 ok e s sl sl S SR s SR ski sR S sR sk 3k
ES Rotor loss DHR %
s vl 53¢ 3¢ 3k 35 s ok 3¢ 3 S 3 38 33 Sl Sk 23 8 348 34 26 236 346 3% 31 Sk 3k e 38 33 38 3k 3be 3k 38 36 34 3l 38 sd of 2l vl 2 e 38 3l St S e S Sl Sl ek sk ke sk ke ke R

CT1=13.0%S/CHORD
a4 3¢ 34 3ie 3 3 336 b 34 e 3he 31 3¢ Sl 35 25 346 3 3ie 346 3 34K 36 3 346 36 6 3k 2k 3% 34 3¢ vl 3k Shk 3¢ vl 3k 34 36 ik 3% 2l 3k e 36 36 388 e 3 3 SR S s sl s sl Rk Ak ke 3k
ES Clearance loss coefficient TLOSCL *®
st 3 3¢ 53 3 34 3 3 54 3 38 3 346 S s 3 3ie sl 3k 3 33 e 53¢ 38 8 3he 39 3 33 3¢ 2fe afe o 3 > ol 33 386 3R 24 390 ol sl 3¢ sfe ade 3de o4 e e 3 e Sk e e e sk ste sk koK

CT2=TANH(CT1)

CT3=CHORD#DELTAU%SIN(BETAZ*RADIAN) /BH3

TLOSCL=0.0696383%CT2%CT3

TLOSSR=TLOSER+TLOSPR+TLOSCL

DHR=A%TLOSSR#x (W3mxk2-W2%%k2) /((1.0~TLOSSR) %2 .0%G)
53¢ 35 3% 3¢ 336 306 38 3¢ 5 390 332 206 350 34 S 35% 338 516 336 316 ¢ 34g 34 306 206 3¢ 202 336 308 3¢ 305 24 286 3k 33 s 29 3fe vl 2k =l ¢ e 3 e 20 2k 2 i 2 e e R ke sk sk sk sk
ES Exit kinetic energy loss DHEX *®
sie 34 she 24¢ 296 3% 53¢ 356 5K 34 i 55 392 356 348 336 348 3328 396 546 536 33 36 Sieei e 388 36 3¢ e sl 3k 3¢ ol s sk e ol sl she e e sl e sde she s sl s sfe sl St s sk ks sl sl e

DHEX=A#C3%%2% (1.0-0.45) /(2.0%G)

DHEXP=DHEX+A®C3%%2/ (2. 0%G)

Xi2M=(X1+X2)/72.0
i 8¢ 23 s 3fe 34 e 55¢ 35¢ 236 e 3¢ 3¢ 256 3k Sje 25¢ 2 3k 5ik 35 34 s 24 % i< 34 20 24 34¢ 3¢ s 3k s 3k s 386 3 38 380 sk 2 s sde vl s S S sl s i sl i sl s sl Sl Sk
B Wet loss DHWET *
sfe 332 s 3¢ 3¢ 392 34 34 53¢ 2i sk sde >i vl 39 e o9 3¢ 3¢ 3¢ 236 s e 2l sl b < 35 3l ¢ 5 34¢ 21 ol 33 e ol 3k 35 ik 3k e e sie 3 s e 3 e Sl ik ARl sle sk ksl SR s e R

DHWET=1.1%(1.0~X12M) =HAD
s 3% 34 23 2de ok 3 35 2 a3 2k e sie 23e 2k 336 3 S 3k 34 vl 6 3 356 3¢ 3i 308 ¢ 36 3ie 3he S 3l 28 3k 34 ok v 346 24 ol sde obe ol e e e sfe ik e s S R sk R e ke sk R e R
£ Turbine efficiency EETATT =
e 3¢ e 366 28 2l 33 i< 25 23 3¢ 2l i 3¢ 2 3¢ 246 24 33k 3l 34 Sl 34 24 3¢ 306 K 24 B¢ 36 3K e 386 346 i< 3ie 3de 28e 3ie 3 vi 34 s o4 ol ¢ o 34 20 Sk S i NS i e Al SR e R

DHSUM=DHN+DHR+DHEX+DHWET+HDLOS+A®C3%%2/(2.0%G)
sk s s si 24 5l K 3§ 5l 34 Sk i 316 3¢ 3k 3¢ 3l 34 o8k 31k 38 53 3 e 39 36 % 34 38 ade i 3% sk de e 3¢ s 3 28 356 03 3¢ 23 34 3¢ 58 34 26 e o4k Sk e Sk 3K e Sl R AR kK
% Turbine theoretical internal efficiency CEETA #
s 3i 23 ofeode 28 e 2he Dk ok 2k 3¢ 3¢ ol 2 3¢ sk 2 230 Sl 396 3ie 392 306 336 e 3¢ 3¢ 346 34 3 3 ol o 3 s8¢ e 238 35¢ ok e 3¢ ok 2 o s e Sde 2 ok 3 Sk e kRl sk ke sl ok

CEETA=(HAD-DHSUM) /HAD

EETATT=CEETA#*0.98

IF(ABS(1.0~-EETA/CEETA) .LT.0.0001) GO TO 220
IF(N.GT.30) GO TO 220

N=N+1

EETA=(EETA+CEETA> /2.0

GO TO 8
********************************************#****************
£ h - s diagram (stsation 2,3)

*************************************************************

220 RH2=H2+AxW2#¥x2/(2.0%G)

RH3=H3+A*®W3x%k2/(2.0%xG)
IF(ABS(1.0~RH2/RH3) .LT.0.1E-03) GO TO 300
IF(IJK.GT.50) GO TO 300
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IJK=1JK+1
CW3=SQRT(2.0%G%k (H2~-H3) /A+W2%%x2)
XO0=CM3/CW3
DCONST=XO/SQRT(1.0~XO%%x2)
B3E=DEGREE®ATAN (DCONST)
BETA3=(BETA3+B3E-DBETAC) /2.0
GO TO 7
300 IF(IDCL.NE.O)> GO TO 310
IDCL=100
GO TO 8
310 RETURN
END
C*******************************************m**************************
Cax Configuration of turbine : *
C**********************************************************************
C

SUBROUTINE BLADE (RAMDA1,RAMDAZ2,DP, HBYD ZR ,BH,RAMDAZ ,RAMDAS ,PITCH,
CHDRD CAMBER TRAILE WAXILE DELTAU II JETA)>

C
PAI=3.1416
RADIAN=PAI/180.
DEGREE=180./PAl
TRAILH=0.02
IF (RAMDAl .LE.RAMDA2) RAMDA2=RAMDA1-0.5
IF (RAMDA2.LT.1.0) RAMDA2=0.5
C *************************************************************
[ #* Vector mean angle RAMDAZ *
C *************************************************************
c .
CONST1=COS (RAMDA1%RADIAN) /SIN(RAMDA1%RADIAN)
CONST2=COS (RAMDA2%RADIAN) /SIN(RAMDAZ2%=RADIAN)
RAMDAZ=DEGREE®ATAN(2./(CONST1+CONST2))
Cl=7.99316%RAMDA1 '
C2=0.0554526%*RAMDA1%%x2
C3=1.33955E~04%RAMDA1I%*x%3
F=422.4465-C1+C2-C3
(o4
IF(RAMDAZ2.GT.F) GO TO 10
RAMDAS=RAMDAZ
GO TO 20
C 34 e s e e e ok s sl 2 2 31 ok 3 3 2 38 e s Sl 2je e s s s 33 330 26 ol 2l 3 8¢ 34 ol s sk sk Ne 532 392 230 o 4 6 3ie 380 38 3¢ o 23 sl e ol e s s Sl S Sl e sk
C # Stagger angle RAMDAS %<
C e 23 35 34 33 e 2 38 34 v sk 3 Sl sk Sl 34 e e ik sl sl s sk xde sk vl s 3 sl 2k 386 30 Sl 3t 238 39 33 53¢ 5 3l 336 33 3l 23¢ 382 o i 58 o8 33 34 3¢ 3¢ 536 3 e e e e e e
[of
10 CON1=0.33845%RAMDA1
CON2=6.68674E-04*RAMDA1%%2
CON3=0.4413227#*RAMDA2
CON4=2.66053E-04*xRAMDA2%x:2
CON5=1.201732E-03*%*RAMDA1%*RAMDA2
RAMDAS=15.293+CON1~-CONZ2+CON3+CON4+CONS
C She 3 e sl 2l 3ie 340 e i 34 382 380 3¢ 330 348 34 3 242 3¢ e v 38 3 3 230 03 ofk 39t sl 2k 53 336 536 288 3¢ 38 24 2% 53¢ 208 58 >d sle Sl 59 34 36 o 38 o9 336 3 ode e e e Sle e e s ok
C * Pitch PITCH &
C 33 34 s sfe 3ie 3 e 2 o 3le 306 346 e 34 34 s 350 3% 3¢ e e 3¢ ok sk e vl sde sl e e 39 306 32 36 232 e S o 5 58 5ie e ok ol 556 546 o 3 o4 390 33 o3¢ sk s s Bk ol S sle e ok
c i .
20 PITCH=PAI%*DP/ZR
C e s 3 3l 3 ok 3k o 3l 3 3 e 380 36 3 3k 3 23 316 24 2 ok ik 3¢ 3l ik ok 3k sl e ol st ik 34 3l 3¢ 3l 33 2 2 Sk 3¢ i S o0k 382 3¢ sfk sk sk s s e i sl e s e e ke
[o ES Chord CHORD *
C 34 2 s s she vk o8 24 e 2l s 3 3 3 34 3 S 246 3 3¢ 3¢ ik ke ol vl o3 o4 2 3 ik 3 38 31 346 5l sl B¢ 36 33 24 s ke 34 33 38 3 2k 3¢ 3¢ 3% o e ¢ ik e sl e e e e Bk
C
CO1=SIN(RAMDAZ2*RADIAN)
CO2=SIN(RAMDAS=®RADIAN)
DELTAU=CONSTZ2~CONST1
CHORD=2.0%PITCH*DELTAU*%CO1%%2/ (0.9%C02)
C
IF(ZR.LT.3.0) GO TO 30
IF((CHORD/DP) .GE.0.02) GO TO 30
ZR=ZR-1.0
JETA=1
GO TO 20
C .
30 IF((CHORD/DP) .LT.0.35) GO TO 40
ZR=ZR+1.0
JETA=1
GO TO 20
40 IF((RAMDA1-RAMDA2) .GT.55.038) GO TO 50
" CAMBER=CHORD
GO TO 60
C *************************************************************
Cc * Camber line length CAMBER *®
C 34 3 3 3 3 3 346 338 K 346 50 30 348 3¢ % 3§ 38 e 25 3¢ 36 48 308 24 546 34 3 36 342 33 3¢ 300 33k 34 ¢ 33 35 24 5{ 23 3% 3¢ 35 54 4 ol 3¢ 3k 24 2i 3k 2ie 2k 2l 23 ol ok ke e sk oK
C

50 CAMBER=CHORD*(0.7221988+5.04736E-03% (RAMDA1-RAMDA2))
60 TRAILE=TRAILH#*BH
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C 36 248 330 3¢ 248 3% 1% 31 338 336 316 346 338 3 348 He 332 ¢ 3 33 518 3K 31 31t 3 N sfe 30 sl 34 3k 3k 33 38 38 240 392 30k B3 5K 3k DI 356 3 ok sie sl s s sl sle e sl i e sk sl sk sk Sk sk
c #* Width WAXILE *
C 3% 348 308 248 348 3¢ 3k 24k 24 2 3 24 25 i 3k 36 36 3¢ e 306 3¢ 3k 3k 3 Mk e N Sk e sk e s Sie 3k 33 30 3l Sl s i 3de 2fe 3l 3 se e 33 20 Bhe e 3¢ 36 ok ofe ik i sl s sl stk
¢ .

WAXILE=CHORD*SIN(RAMDAS*RADIAN)

70 RETURN

END
C***********************************************************************
Cs . Loss )

C 34 34 23 30 34 35 396 35 330 350 336 380 300 346 340 3 0 06 346 346 346 e 346 336 34k 30 3 3¢ 30 3% 356 346 346 39 4R 286 306 386 338 3 3% 3 3¢ 396 536 386 34 e 346 346 e 242 3% 2 she sk o e ¢ 3k 3k K ok ol SR K S Sk 3k
¢
SUBROUTINE ALOSS(RAMDA1l,RAMDAZ2,V.BH,ANIU.PITCH,CAMBER, CHORD,

1 TRAILE,TLOSSP,TLOSSE, STORRO)
C 232 38 3¢ 3k 348 3i% 3l 2k 3k i 3k e 35 3k 3t Sk 39 2k ol S SR Sk 3¢ bk B 330 3R S 3 e 3t sk SiR R 20k 3¢ =i 2 s s s ol v sk e ol i se s e s s sk sBe e s s pie ok e e
C ES . Section loss coefficient TLOSSP %
C 3R 3% 38 348 30 34E Sk 3K 3k ok 236 3 3 S 3 3 3 i Sk ok sk o ik Sl 3l Sk oie sie sl ve e Sk ok ol s dik s 2k i i e 34k 3 e ok s i e sie e s s sl e sle s sk e sk s sie
C
PAI=3.1418
RADIAN=PAI/180.
REL=Vx®CAMBER/ANIU
CONST1=1.868508%ALOG10(REL>~-8.51713
CONST2=TANH (CONST1)
FREL=1.0~-CONST2+71.0/AL0OGI10C(REL)*%2.,.58
IF(RAMDAZ .LT.1.0> RAMDAZ2=0.5
CONSTO=SIN(RAMDAZ®*RADIAN) /SIN(RAMDAILI**RADIAN>
CONST4=0.0021%CAMBER® ((1.0~CONST3%%4.5)/(1.0~-CONST3))%%0.8
C=FREL®=CONST4/(PITCH*SIN(RAMDAZ*:RADIAN))
D=1.286%C
TRAILP=TRAILE/SIN(RAMDAZ:*xRADIAN)
CO1=1.0-D-C-TRAILP/PITCH
C02=1.0~-D~-TRAILP/PITCH
CO3=CO1xCOS (RAMDAZ2%RADIAN) /CO2
CO4=CO1xSIN(RAMDA2RADIAN)
COB=(CO2%x2-CO1)*SIN(RAMDAZ®*RADIAN) %2
TLOSSP=1.0-(CO3%%x2+C0O4%k2) /(1.0+2.0xC05)
TP=TRAILE/PITCH
R=RAMDAZ2
DXPT=-0.17BE-07+2.750%TP~-0.750E+02%TP%%x2+0.1875E+04%kxTP*%x3
Al=1.0 :
A2=-5_.3772+2.4626%R~-0.18742%R%%2+0.53371E-0C02%R%%x3~0.50168E~04%Rx%x4
A3=0.63683E+03~0.10251E+03%R-+6.03688%R%k2~0.14854%R%%3
1 +0.12953E~02%R¥%4
XPT=A1+A2%TP+A3RTP%:*x2
TLOSSP=TLOSSPx*XPT+DXPT~/100.0
[od s 53¢ sk 4 350 250 3¢ 33 e 3¢ Sl 352 59¢ e 3 3¢ 3¢ 386 236 e 350 DiR 308 336 338 550 202 she B 3 S 53¢ 250 30 256 296 53¢ o4 26 536 34 e o6 ¢ 386 2l 39 e 23R a8k 5 346 34 34 8 oe o 3 MOOR K
C £ Secondary loss coefficient TLOSSE ES
o} o4 sk 3¢ 36 38k 3¢ 58 346 21 3ic 3% 3 5 3 38 i 3¢ S0 He 39 3¢ sk 3¢ e e 3 34 3ie 4 3¢ ke 3l 3¢ vl e 8 56 ol 3¢ 3 Sl 3¢ e 3i¢ 3h¢ S 348 24 3¢ Sk ¢ She 3k 3¢ 6 o3 ¢ ol e ke K
C
CONST=SIN(RAMDAZ%RADIAN) /SIN(RAMDAI*RADIAN)
C1=0.038806%(CONST+0.08)%(1.0+(RAMDA1-RAMDA2) /100.)
C2=1.5+(RAMDA1+RAMDAZ2) /180.
C3=0.000337%(10.0%x(CONST+0.08))x%C2
E=(C1+C3):xCHORD/BH
IF(CONST.GT.1.0) GO TO 10
TEMAX=E
GO TO 20
10 TEMAX=ExXxCONST*%x2
20 IF(STORRO.NE.O0.0> GO TO 30
ENR=0.3
GO TO 40
30 X=2.857%1.286%TEMAX
ENR=0.3+TANH )
40 TLOSSE=ENR%TEMAX
50 RETURN
END
C =i 3 34 2je i 3de 2 35 e sk s ol ol 3 3d s s sk o 23 38 200 346 330 38 5l 388 50 35 390 33050 340 o 38 o 39 o3¢ 296 28 3¢ ol 346 58 23 336 33 30 39 B 3¢ 33 sl o 3 i 3 ik e ik ol Sl sl sfe e S B SR s e oK
Cax Property of working fluid ES

€ 39 34 35 30e 35 34 34 348 36 346 346 34 e 300 3¢ 396 30e 3fe 346 3¢ 34e 3¢ >l 286 sk 3fe e o sl 34 sk bk Sl 3 3 24 3¢ sbe sk s 4¢3 e sl o 3¢ B vde 6 386 sk sk sk e 3 vl sk 3¢ 3¢ vl e Sk sl Sle i sl sl sk sk sk sk
C
SUBROUTINE STATES(TR,PS,VL.VG.HL.HG,SL,SG.ANIUS,FLUID)

C

IF(FLUID.EQ.22.) GO TO 10

IF(FLUID.EQ.3.) GO TO 20

IF(FLUID.EQ.502.) GO TO 30
[} 34235 34 20 346 i 3¢ 3k 3 368 34 348 306 30 38 356 292 ofe 3¢ e e 3 366 306 36 o3k 34 396 26 i 3% 29 308 39 308 3% 386 286 2 2% 59 e S 388 256 54 34 3¢ 54k 3 366 286 386 54 36 3k o e Sl S oK
C * Property of FLUOROCARBON-22 B
C 33 34 34¢ 3¢ 3¢ 34 39¢ Sk Sl ol 3¢ 34 Sk 3 356 SfR Sk e 55 a8k 28 >4 Sl s 362 243 5% 24 35 sde 38 34 S 3¢ 24¢ 35 e 236 206 28 2 28 2% 546 28 34 386 b e 35 38 24k ofe o8¢ ok e R koS
[

10 HL=0.99888E+02+0.27766E+00*TR+0.29284E~03%TR%%2+0.36719E~05%TR*%3
HG=0.14880E+03+0.86556E~01%*TR~0.48288E~-03%TR*%2+0.17721E~05%TR%xx*x3
1 ~0.75231E-07%TR%kk4
SL=0.1000002E+01+0.99847841E~-03%TR+0.9399766E~068%TR**2-0.4794085E~-07
1 #*TR%%3+0.5827505E-09%TR*%%4
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SG=0.11790E+01-0.28953E~03%TR-0.19367TE-04%TR%%2+0.25029E-05%TR%#%3~

1 0.14506E-06%TR*%4+0.43220E-08%TR*%5~0.64248E~10%TR%%x6

2 +0.37878E~12%TR*%7
VL=0.78035E~-03+0.20594E-05%TR+0.11358E-07%TR%%2+0.15093E-10%TR*%3

1 +0.16432E-11%TR*%4
VG=0.47002E-01-0.14812E~-02%TR+0.27800E—-04%TR%%2-0.38975E-06%TR%%3

1 +0.37467E-08%TR*%4~0.17788E~10%TR**5

PS=0.50768E+01+0.16556%TR+0.19951E~Q02%TR%%2+0.1175E~04%TR%%3
AMIUS=0.121001E-04+0.685682E~07%TR~0.287689E~-08%TR%%2

1 +0.119886E-09%TR*%3-0.198864E~11%TR*%4+0.125000E~13%TR#%:=x5
GO TO 50

*************************************************************
* Property of NH3 ES
S e e 4 sg i s S5 e ok 3 sl ol 33 3 3k 3 3 26 356 vl ol e s a4 256 o ol o S 30 2 396 Sl i 396 382 356 53R 230 256 o3 ot a3 303K sl 3¢ 3 300 53¢ 53¢ ik 3 ok e sl 3 e 5K

[eXeXeX¢!

20 HL=0.10000E+03+0.11012E+01%TR+0.24088E~0C2%TR*%%2-0.308668E-03%TR
1 ##%3+0.24435E~04%TR%%4~0.93901E-068%TR*%5+0.17519E-07%TR*%%6
2 ~0.12884E~-08%TR#w*%:7
HG=0.40152E+03+0.272798E+00%TR~0.38280E~-02%TR#%%2+0.11279E~-03%xTR#%%3
1 ~0.32041E~05%«TR#%%4+0.28755E~07%TR%#%5
SL=0.10000E+01+0.40390E~02%TR-0.91817E~-05%TR%%2+0.30572E-06%TR%*3
1 ~0.82243E~08%TR#%%4+0.82217E~10%TR®%:#%5
.SG=B.21041E+01~0.30853E—02*TR+O.11028E—04*TR**2~O.69905E~06*TR**3
i +0.7204BE~O07%TR%%4~0.32574E~08%TR#%%5+0.668433E~10%TR:%:x8
-0.50833E~12%TRwx7
VL=0.15660E-02+0.33831E~05%TR+0.33826E~08%TR%%2+0.96312E~09%TR%%3
~0.40943E-10%TR*%4+0.91528E~12%TR%*%5~-0.77117E~14%TR#%%6
VG=0.28970E+00~0.10144E~-01%TR+0.17251E~-03%TR%%2+0.406209E-05%TR%%x3
1 —0.6306C8E~0B8%TR*%%4+0.33562E-07%TR*%%5~0.96353E-00*%TR%%6
2 +0.14464E~10%TR*%7~0.88822E-~13%TRu#%8
P85=0.43780E+01+0.16131E+00%TR+0.35191E-02%TR%%2~0.10086E~03%xTR&%3
1 +0.18224E-04%TR%%4~0.98006E~-06%TR*%5+0.28719E-07%TR*%%6
2 ~0.437S0E~09%TR%%7+0.27291E~11%TR%%x3
AMIUS=0.935E~-05-0.17083E-08%TR+0.26762E~08%TR%%2~0.54502E~10%TR%%3
1 +0.315E~12%TR%%4
GO TO 50
oo 35 2 e 50 2 S e 5 K 35 35 SR 30K 3 3R R A< 356 e i ik 38 ok 202 i vk sl 2 8 25¢ 236 35 3k 34 3 53¢ 3¢ e 23k 3¢ ol =3¢ 2k 3¢ o 34 28 20 2 3¢ 350 e 3 e B¢ B B sk
£ Property of FULOROCARBON-502 *
e e s e v e e 8 390 39 3k 3R KK 3R 348 3 200 336 s 3R e ok ok o o o ¢ o 380 50 546 3 35 24 94 56 5 35¢ 256 S8 3k 34 24 sl % vk >k o8 350 o3¢ ¢ 5K 236 23 IR A SR IR K B IK

et

[eXeNeNe!

30 TR=TR+273.15
HL=~56.9623~0.154335%TR+7.46237E-03%TR%%2-9.104E~-06%TR%%3
1 ~1.50815E-08xTR#%#4~4.833758E~11%TR%%5+1.87375E-13%TR%%6
HG=353.472+0.318423%TR~5.55037E~03%TR%%2+1.48342E~05%TR%%3
1 +1.08578E~08%TR%%4+2.60968E~11%TR#%5-1.98043E~13%TR%%6
SL=—1.985168+0.0147839%TR~2.39536E~08%TR%%2~-2.87337E-08%TR%%3
1 ~1.40108E-10#TR%x%x4+2.21434E~-13%TR%%5+2.23281E-16%TR%x%6
2 +2.38102E-19%TR#*®7 .
SG=2.62134-0.0136161%TR+1.15037E-O5%TR%%2+3.56669E~08%TR*%x3
i +9.85794E-11%TR#%%4~2.82378E~13%TR*%%5~1.53089E~16%TR*%%6
2 -4 .75886E—-20%TR%%7
ROWL 1842.9-2.4015%TR+6.38642E~04%TR*%%2+9.65673E~068%TR%%3
~—4.23078E-O9%TRa##4-1.19521E~10%TR%%5-1.03777TE~14%TR*%6
ROWG=127 266+0.0120281%TR~1.84835E~03%TR%%2~7.7992E~-06%TR%*3
1 +1.20006E-08%TR*%#4+5.82447E~11%TR%%5+1.02111E~13%TR%%6
PS=—2.72403+D.0237695*TR—5.21761E—05*TR**2—4.687018—08*TR**3
1 -5.12797E-11%TR#%%4+9.08925E~13%TR*%%*5+1.32646E~15%xTR*%%6
2 +4.83718E-20%xTR%x%x7
ANIUS=13.2546-0.0772148%TR+4.88755E~05%TR%%2+2.33328E-07%TR*%%3
+3.48851E-10%TR*#%4-1.30086E~12%TR*%%5~6.66775E-16*TR%%6
+1.02947E-18%TR#%x7
TR=TR~-273.15
HL=HL/4.187
HG=HG/4.187
SL=SL/4.187
SG=8Gr4.187
PS=(PS/9.80665)%100
VL=1.0/ROVL
VG=1.0/ROWG
ANIUS=ANIUS*1.0E~08
GO TO 60

[

[o]
50 ROWG=1./VG
ANIUS=AMIUS/ROWG
60 RETURN
END
C e 586 332 2fe 536 34 34 24e 3 33 e e 3 3§ sl 242 34 ofk 3¢ 5 23k 28 348 24¢ 346 24 34 242 e s8¢ 342 3¢ sde 38k 380 356 3l 29¢ sl 3¢ sk of 3 e 3k SRk 8¢ 3l 3¢ 53¢ 3 3¢ 34 336 3¢ 3¢ 3 35K 34 398 3¢ 20¢ 3¢ 332 ¢ Sk MK SRS 3K 3K
Cax Thermodynamic properties sk
€ 3ie 332 34¢ 33 3l 386 34 3 3¢ 34 34 34 33 Sl s ol 246 3¢ ol 38 sk 3¢ Sl 38 S 3 31 35 5 3k e 3 346 316 34k 2 ok sk 28 0 3he ke sk 3 ik sk sie ol 35 33 3¢ 3 3l 3 3k 306 S 3¢ 3 340 3 35 3K 3 39< 34 3 e BHE e 3k
[ . .
SUBROUTINE STATE2(H2I1S.S1G.TIN,TOUT.T2,FLUID)
C
TI=TIN
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TO=TOUT

I=0
10 T2=(TI+TO) /2.

IF(FLUID.EQ.22.) GO TO 20

IF(FLUID.EQ.3.) GO TO 30

IF(FLUID.EQ.502.) GO TO 40
=k 2 2 3 2k s 3 28 2 3¢ 24 3ie sk sk s 34 24k o 24k 4 e vk b ol sl ol 3 ¢ 386 3 2l 3 3k 2l 8 23 2de 3 33 3¢ e e ode sd Sk 2l o6 33 30 e 3 sl B I K e e ke e sl ke
& Property of FLUOROCARBON-22 *
24 336 242 35 386 282 i 3 38 3¢ 34 338 >i sf 2ie 2 35e e 3¢ 8¢ 3¢ e s 340 2% e e e sk 33 s sl sie e 3B 3 33K e 3¢ 3¢ 3 16 93 516 SR 53¢ i 203l B e Sl e e sk e Bk e sl e

[eXeXeX¢!

20 H2L=0.99998E+02+0.27766E+00%T2+0.29284E~03%T2%%2+0.36719E-05%T2%%3
H2G=0.14890E+03+0.86556E-01%T2-0.48298E~03%T2%%2+0.17721E-05%T2
1 #%3-0.75231E~07%T2:#%%4
S2L=0.1000002E+01+0.9947941E~03%T2+0.9399766E~06xT2%%2
1 -~0.4784088BE~07%T2%%3+0.5827505E~09:%T2:k:x4
S2G=0.11790E+01-0.28953E-03%T2-0.19367E~04%T2%%2+0.25029E-05%T2
1 #%%3-0.14508E-06%T2%%4+0.43220E~-08%T2%%5-0.64248E-10%T2
2 ®KB+0.37678E~12%T2%%7
GO TO 100

3% 386 sl 33 256 35 sl e 3 o 38 380 8 33 34 33 30 ¢ e sk e 3l i 34 3de 38 53¢ ol 3 34 3k 3de 3de 382 ole 26 3 35 2de 23 2de ol ok sk sl oo 39 o sk o e sk e sfe e sl sl e s kK

*® Property of NHS3 *®

3 3he se 392 55 3 248 336 53 51 306 56 36 2ie 230 33 5 I 24 54 S48 3¢ %6 332 308 36 34 2 33 382 35 30 3¢ 23 ok 38 34< 30 2d< 33 she sl 38 vk sl e ofe ol g e e e e sk R e sk e s sk

anaon

30 H2L=0.10000E+03+0.11012E+01%T2+0.24089E~02%T2%%2-0.30866E~03%T2
®*%3+0.24435E-04%xT2%%4~0_.93901E~-06%T2%%5+0.17518E-07*T2%%k0
-0.12884E-09%T2%k#k7 .

H2G=0.40152E+03+0.27279E+00%T2~-0.38280E~02%T2%%2+0.11279E-03%T2

1 ®%%3-0.32041E-05%T2%%4+0.28755E~07%T2%%5
S2L=0.10000E+01+0.40390E-02%T2~-0.91817E~-05%T2%%2+0.30572E~-06%T2
1 #*%3-0.82243E-08%T2%%4+0.82217TE~10%T2#%%k5
S2G=0.21041E+01~0.30853E~-02%T2+0.11028E~04%T2%%2~0.688065E~06%T2
1 #k3+0. T204B8E~07%T2%%4~0.32574E~08%T2%%5+0.68433E-10%T2%%86

2 ~0.50833E~12%T2%kk7

GO TO 100

s 38 38 3 S 3 3 ok st 38 38 536 330 3K 2k 338 3 30 33 53¢ 3k 350 a8 5 5% 3 Sk ok 548 380 o 38 3 30 o 3k 3k o3 38 5f ok e sl i sde sfe e sfe sl sl s sl s sk sie s e sk sl ok

Ed Property of FULOROCARBON-502 %

36 340 35 30 35 230 38 346 3k 3 31 S 8 e s 33 34 3 330 ol 33 3¢ 38 e oAk ok sk 3l 3d 3 e 2k oig 33k ok 34 3k of o ok 3k B 3 3 o e 3de i ok S sl Sl i sl Al sk sl ke e sl B

D b

aoan

40 T2=T2+273.15
H2L=-56.9623-0.154335%T2+7.46237E~03%T2%%2-9.104E~-06%xT2%x3
1 ~1.50815E-08%T2%%4~-4.33758E~11%kT2%%5+1.87375E~13%T2%%6
H2G=353.472+0.318423%T2-5.55037E~03%T2%%2+1.48342E-05%T2%%3
1 +1.08578E-08%xT2%%4+2.60968E~11%T2%#%5~1.98043E~-13%T2%:%k0
S2L=-1.95166+0.0147839%T2-2.39536E~06%T2%%2~-2.87337E-08%T2%%3
~1.40108E-10%2T2%%4+2.21434E~13%T2%%5+2.23291E-16%T2%:%6
+2.38102E~-19%T2%xT
S2G=3.682134~0.01361681%T2+1.15037E~05%T2%%2+3,.56869E~08%T2%%3
1 +9.85784E~-11%T2%#%4~2.82378E~13%T2%%5~1.53088E~16%T2%%6
2 -4 .75886E~20%T2%x7
T2=T2-273.15
H2L=H2L/4.187
H2G=H2G/4.187
S2L=S2L/4.187
S2G=82G/4.187
100 X=(S1G-S2L) /(S2G~S2L)
Y=(H2G~-H2L) *X+H2L-H21IS
IF(ABS(Y) .LT.0.5E-03) GO TO 120
I=1+1
IF(I.GT.200) GO TO 120
IF(Y.GT.0.0) GO TO 110
TO=T2
GO TO 10
110 TI=T2
GO TO 10
120 RETURN
END
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SUBROUTINE SI(PS1,PS2,PS3,H1,H2,H3,S1G,S2,.53,DHN,DHR,HDLOS,DHEX,
1 DHWET .DHSUM, HAD)

PS1=PS1%0.0980665
PS2=PS2%0.0980665
PS3=PS3%0.0980665
Hi=H1%4.187
H2=H2%4.187
H3=H3%4.187
S1G=51G*4.187
S2=52%4.187
S3=S3%4.187
DHN=DHN*4.187

C
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DHR=DHR*4.187
HDLOS=HDLOS*4.187
DHEX=DHEX*4,187
DHWET=DHWET*4.187
DHSUM=DHSUM*4.187
HAD=HAD*4.187
RETURN

END
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Station

1. nozzle inlet 2.

LEREE - fE M- bR - REHT

&L

nozzle outlet

F2NTA - DHRNA

3.rotor outlet

IPOVER Busber pover

T2 (Tin+ Tour) /2

PS1 saturated pressure (station 1)
PS2 ” (station 2)
PS3 " (station 3)
01 enthalpy (station 1)
H2 " (station 2)
03 " (station 3)
Vi specific volume (station 1)
V2 " (station 2)
V3 » (station 3)
S1G entropy (station 1)
S2 n (station 2)
S3 " (station 3)
X1 dryness fraction (station 1)
X2 " (station 2)
X3 ” (station 3)
ANIUSI kinematic viscosity (station 1)
ANIUS2 ” (station 2)
ANIUSS ” (station 3)
RPH rotational speed

GFMASS mass flovw rate

REACT reaction

RED3 Reynolds number (station 3)
DP disk pitch

EETATT turbine efficiency

D1 diameter (station 1)
D2 ” (station 2)
D3 n (station 3)
BH1 blade height / diameter (station 1)
BH2 ” / " (station 2)
BH3 ” / ” (station 3)
ALPHA1L absolute inlet angle

BETA2 absolute outlet angle

BETA3 ”

ALPHAS stagger angle(nozzle)
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BETAS stagger angle(rotor)

WAXILN vidth of nozzle

WAXILE vidth of rotor

CAMBEN camber line length of nozzle
CAMBER ” rotor
CHORDN chord of nozzle

CHORD ” rotor

DBETAC under turning angle

PITCHN pitch of nozzle

PITCHR " rotor

C1 absolute velocity

Cc2 ”

C3 ”

CM2 ”

CHM3 ”

CU2 ”

CU3 ”

V2. relative velocity

W3 Y

W02 ”

WU3 ”

UP peripheral velocity

LOSPN section loss coefficient of nozzle
TLOSPR ” rotor
TLOSEN secondary loss coefficient of nozzle
TLOSER ” rotor
TLOSCL clearance loss coefficient

DHN nozzle loss

DHR rotor loss

HDLOS disk friction loss

DHEX exit kinetic energy loss

DHSUM total loss

HAD theoretical adiabatic heat drop
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